
Solving a Rational Equation - Example 1

Example: Solve the equation:
Since the left hand side is divided by (x + 4) we multiply by (x + 4)
Which means we need to multiply the right by (x + 4)
Similarly, the right is divided by (x + 2) so we multiply by (x + 2)
Which means we need to multiply the left by (x + 2)
Now we can simplify (x+4)

(x+4) = 1 for x 6= −4

And simplify (x+2)
(x+2) = 1 for x 6= −2

Leaving us with the equation:
Note: This method is often called cross-multiplication
Since our equation is defined at x = −8, we can conclude:
Conclusion: The solution to 2

x+4 = 3
x+2 is x = −8
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